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a<b or c<(not d) and e<f or g<h

(1) BEETE

(1) E>E'orE? {E.place : =newtemp ; emit (or, E'.place, E.place, E.place) }

(2) E—>E'and E? {E.place : =newtemp ; emit (and , El.place , E2.place, E.place) }
(3) E—not E* { E.place : = newtemp ; emit ( not, E.place ,—, E.place) }

(4) E—~(EY) { E.place : = El.place }

(5) E—id, rop id, { E.place : =newtemp ; emit (jrop, id,.place , id,.place , nextstat+3) ;
emit(:=,0, -, E.place) ;emit (jump ,—,—, nextstat+2 ) ;emit (:=,1, -, E.place) }
(6) E—true { E.place: = newtemp; emit(:=,1,- ,E.place) }

(7) E—false { E.place:=newtemp; emit(:=,0,- ,E.place)}

a<b or c<d and e<f or g<h
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(1) E—>E'or E2  { E.codebegin: = El.codebegin ; backpatch ( El.false , E2.codebegin) ;
E.true: =merge ( El.true , E2.true ) ; E.false: =E2.false }

(2) E—>E!and E? { E.codebegin:=E.codebigin ; backpatch ( El.true, E?.codebegin) ;
E.true:=E-Z“true ; E.false:=merge ( El.fasle, Efalse) }

(3) E—~not E* { E.codebegin:=E!.codebegin ; E.true:=E!.false ; E.false:=E!true}

(4) E—(EY { E.codebegin:=E!.codebegin ; E.true:=E!.true ; E.false:=E".false }
(5) E—id, rop id, { E.codebegin:=nextstat ; E.true:=nextstat ; E.false:=nextstat+1;
emit (jrop, id,.place , id,.place , 0 ) ; emit (jump ,—,—,0) }
(6) E—true { E.codebegin:=nextstat ; E.true:=nextstat ;
E.false:=0; emit (jump ,—,—,0) }
(7) E—false { E.codebegin:=nextstat ; E.false:=nextstat ;

E.true:=0; emit (jump ,—,—,0) }



